Parts List .«..x:

9 paDUEIN
r . ___ Al
Model: BK20 IN—YZXPT—F 522572-2






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BaRES - BBHREW - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R R oo seeeseeeseeeseeeeeeeeeeeeee e 1~2
2.0 (U007 —R JUAAILRABZ=E) e 3~6
K AV RAVIN QY b= B 1V 2 3 7~38
4. T (FXTLR BBFUD) eeessseesesesese 9~ 10



1. BK20

XK




RHEES | HaES B & {1 &% &
1-1 363304 | BK20 1
1-2 226546 | TUNTIVY 1
1-3 226544 | ' 4hUIhr 1
1-4 215532 | fiv44=%") 1
1-5 054691 | YUhT9 9347 1 [ 6794
1-6 089738 | 6 AU Wb (+ 777 EYH) 1 | M5X15
1-7 215418 | nUNWMNIYTATY 93487 1 [ 8744
1-8 092561 | 6 hYF'IWb (+)SW 6 | M5X25 77° Wb
1-9 228589 | #—L7L—F 1 | BK20
1-10 225835 | ¥ Yh—RY934T 1 [ 11 ~16 7494
1-11 225897 | 6 h9KIWE (HW 1 | M6X8 77tV
1-12 092561 | 6 H9K Lk (+)SW 1 | M5X25 77°€Yh
1-13 225891 | NnEJK'AA 1
1-14 225892 | NnE/K'AB 1
1-15 225893 | #IN#Y N RUEFYS 1 | M8tYY
1-16 225896 | 6 h9K Ik (+) 1 | M5X10 77" &b
1-17 216458 | AUFM LTI 1| 3%
1-18 216459 | nUNILTIA 1 | E%Y
1-19 210429 | ARYRLLA'— 1
1-20 215613 | AAYRMLIAY 1
1-21 220533 | AAhTNUN934T 1
1-22 222821 | Y A9AVAN-H3I4T 1 |23~ 25744
1-23 212994 | AN =V 250ty 1
1-24 212995 | AN —AHIHTY 1
1-25 092577 | 6 H9H Wb (+)SW 2 | M5X25
1-26 224624 | ¥Y7°Y—9 BIG-M 1
1-27 220549 | F19(v—) 1




2. BK20 T Y
D59 —R, DYUE

3200942 H ~ 39+51&39A+51AIZTHEHREY,

41A—

39A

40A

¥ ~2009%1H

39




RHEES | HaES B & & &% & =
2-1 858140 | IVY'Y 1 | EE200/09
2-2 268608 | Y)u& 1

2-3 283420 | HAHYH 1

2-4 267290 | A%Ya 2 | M5X20 AY91LYY
2-5 263772 | 41UY2L—4TkS 1

2-6 267049 | B AFYb 1

2-7 269826 | TAIRY ()WSW 2 | M5X25WSW *v%
2-8 281532 | ¥757tV7") 1

2-9 266264 | A%Y)1 2 | M5X50 7599
2-10 280409 | B A4 1

2-11 280846 | M7 HN— IR 1

2-12 280144 | 4YEV3Y (+) 1 | 4X16

2-13 280341 | 4509 -2 1

2-14 280488 | A7YUY 2 | PPL 6001
2-15 261492 | #ALY—I 1

2-16 261386 | #4NY—=Ib 1

2-17 055185 | C h'4ki0 1 | 7F39 28
2-18 261612 | 6 W97 FYEK Lk WSW 3 | M5X30

2-19 261032 | E'AbUTRA 1

2-20 261158 | E'AMUY 1

2-21 261036 | E'AbUEY 1

2-22 281288 | Z—FMAATYYY 1

2-23 261576 | #=4v7’ 2

2-24 283879 | #7099 %7b30771)—b 1

2-25 269168 | 459F7tv7"Y 1 |2627 794
2-26 269169 | 479Fv1 2

2-27 269173 | A7 Yuy 1

2-28 269647 | #7VFHK Ik 2

2-29 269175 | 79y¥ 2 | 6.1X15X1.6
2-30 261777 | 9I-779v% 2

2-31 280366 | 77 hn - 1

2-32 269831 | TA1%Y ()WSW 4 | M5X20WSW
2-33 269991 | 4vv3y 1

2-34 280477 | A%Ya 1 | 65892%Y M5X28WSW
2-35 269423 | YhHFYb 1 | Y9Ik M5
2-36 282403 | 4YEVAY (+) M4X14

2-37 280314 | 479FN3L3077)—F

2-38 014210 | Ch'4ki0 ¥h3A7 10

2-39 280469
283567

2-40 261356

2-40A 283397
2-41 280470
2-41A 283645

2-42 267401

W RTEYTY
W RTEYTY

A-4
-4
45299324V T V7Y
15" 29%3534NT 7))
M

[ G G G —y

[ G G G —y

40 ~ 46 79 ~ 2009 £ 1 A
40A ~ 46A 791 2009 £ 2 A~

42 ~ 46 79 L
42A ~ 46A 79 L




2. BK20 Ty
D59 —R, DYUE

3200942 H ~ 39+51&39A+51AIZTHEHREY,

41A—

39A

40A

¥ ~2009%1H

39




RHEES | HaES B & o &% & =
2-42A 283722 | 34l 1
2-43 280868 | 1—pT7tU7Y 1 | 44 ~ 46 794
2-43A 283646 | 1—FT7tU7Y) 1 | 44A ~ 46A 794
2-44 280869 | 1—F 1
2-44A 283647 | 1-F 1
2-45 280870 | 7°77°%%v7’ 1
2-45A 283178 | 7'39°%vv7’ 1
2-46 280871 | 794 1
2-46A 283270 | 794 1
2-47 261417 | $7%H 29%+Uk 1 | M8
2-48 280381 | AA—# 2
2-49 269832 | TAIRY (H)WSW 2 | M4X25WSW
2-50 264652 | AN=97°39" 1 | cJsy
2-51 269983 | AMT ALYFIAVTY—b 1 | ~20094 18
2-51A 283648 | AMYT AMYFIAVT—b 1 [2009 %2 A~
2-52 261076 | N 9%— 1 | AY13X10
2-53 269705 | 3NN IEY VS ELWVEY
2-54 286527 | 77UAN-TtY7 C 1 |31,37,38 7494




3. BK20 T oY
JaAIILRA—A

~201149H

20114108 ~ - .
: /!/2\2
N | 25

\_\________'______
Yy

N
—
~




HaEs

B

(EE

w &

280419
269999
280492
280493
280494

280495
283616
280497
280550
280547

280548
269423
287399
269833
280489

283494
288684
288685
288967
288968

262922
288969
288970
261725
283511

288971
269824

YA WRE=4T 17
A3=874077)

=

ANATNAT YUY
A9)a

0-77tv7")
A4—40-7"
A4—=4)7"
FUINSYib N
UDVAY

h7-

YhoTHIb
A8=47"=)T1v7)
FAIRY (HWSW
FAIRY (HWSW

NN

A WARI—=4T 17
A3=474077)

)=l

ANAFTNAT YUY

YRS
A-77tv7")
A4—40-7"
A4-4)7
A=7°AMn

A8=47" =717
NN

—_— ot ) N = = o —_— o ) —_— ot )

—_— ot )

2~1379L ~ 20119 A
3~ 12744

7~9794

YA

BIG M BK20
18 ~ 26 794 2011 &£ 10 A~
19 ~ 257914

23 ~ 25794

4n
Y'Y1%eq




FrILA, BEEUY

4. BK20 TV

19

O A
ER

Wy =

&Y
AN
MY,
/{_»‘9/\\\5
N9




RHEES | HaES B & 1 &% &
4-1 268612 | ¥¥7°L47t€07") 1 [2~15744
4-2 263739 | KVIEKTA 1
4-3 262996 | A%Y1 4
4-4 262991 | N=Y'K'T( 1
4-5 262992 | &V - 1
4-6 261874 | 7347 1
4-7 283905 | 4'1¥77L 1
4-8 262993 | K AHYb 1
4-9 262994 | #°4%77L4 1
4-10 282576 | H'AHYb 1
4-11 262730 | ¥ IYb 1
4- 261871 | O Yy’ 1
4- 261876 | vy 1
4- 261658 | A4~ 1
4- 264682 | A49Y1 2
4-1 281007 | 3~ 1 | F3-9 04 _~1
4—1 261864 | H AHYh 1
4-1 264691 | Oy’ 1
4-1 266420 | 9)-+T7tv7") 1 |20~ 22744
4-2 264709 | HY—Fhn'— 1
4-21 266433 | T—AT7tV7) 1
4-22 264695 | ILAVH 1
4-23 269834 | FAIAY (HWSW 2 | M5X60WSW
4-24 280484 | 49777 1 |25~ 35744
4-25 280408 | 71—-I)4vY 1
4-26 261584 | 4u9%¥Y7° 9347 1 | 27794
4-27 261105 | N'YEY 1
4-28 261696 | 749347 1
4-29 283299 | 71-IALNA{7TEUTY 1 |30~ 35744
4-30 283300 | NATTEVUTY 1 |31 ~33744
4-31 261115 | 4’0 Yk 1
4-32 261690 | #YYAINAT’ 1 | 160L
4-33 283301 | A—n"—70-nN47 1 | 135L
4-34 264653 | 74METEVTY) 1
4-35 261117 | 9997’ 1
4-36 269828 | FAIRY ()W 2 | M5X16W(11.6X1)
4-37 281208 | A IRY (HW 1 | M5X16W #9% (116)
4-38 280020 | AAALYUY 1

-10-




5. BK20
/&

-11-



RHEES | BRES =1 71 &%k fis
5-1 221460 | K3 Ah'% 1

5-2 220534 | AYnhn'— 1

5-3 210418 | AVE'RWHIAANT 1| 13X19X(+) N34
5-4 219431 | 6 h9R AN 1

5-5 022865 | YIAVYFANT 1 | 8X10

5-6 227944 | N)7Ih4EYIM Y3 1

-12-




